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1) Find the percentage change from 5 to

12

Answer:

2)  What would you multiply by to
decrease an amount by 61%?

Answer:

3 18%of 27

Answer:

4)  20%of 38

Answer:

5)  Find the percentage change from 15 to
30

Answer:

6) Anamount wasincreased by 2% to
$121.00. Find the original amount.

Answer:

7)  Decrease 52 by 25%

Answer:

8)  Anamount was increased by 1% to
$437.00. Find the original amount.

Answer:

9)  Anamount was decreased by 9.4% to
$410.00. Find the original amount.

Answer:

10) Anamount was increased by 9% to
$48.00. Find the original amount.

Answer:

11) $451.00 earning 1.4% compound
interest for 6 years.

Answer:

12) Decrease 40 by 85%

Answer:

13)  What would you multiply by to
decrease an amount by 35%7?

Answer:

14)  79%of 20

Answer:

15) Find the percentage change from 10
to 26

Answer:
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16) $338.00 earning 1% compound 17)  Anamount was increased by 7% to 18) 43% of 31
interest for 1 years. $242.00. Find the original amount.
Answer: Answer: Answer:
19) 29% of 13 20)  Increase 40 by 5%
Answer: Answer:
Total: /20
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1) 140% 2) 0.39
8) $432.67 9) $371.46
15) 160% 16) $341.38
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3) 4.86
10) $44.04
17) $226.17
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Answers:

4) 7.6 5) 100% 6) $118.63 7) 39
11) $490.23 12) 6 13) 0.65 14) 158
18) 13.33 19) 3.77 20) 42
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